



Degree of approximation of function belonging to the Lipschitz class by Euler-Cesaro means of its Fourier series

Anjalee Srivastav*

Department of Mathematics, Tolani College of Arts and Science, Adipur, INDIA
Kuchhch, Gujarat-370203 INDIA

ARTICLE INFO

Article history:

Received 6 July 2016

Received in revised form 1 December 2016

Accepted 5 December 2016

Available online 15 December 2016

ABSTRACT

Bhatt and Kathal (2000) established interesting results on (C,1)(E,1) summability of a Fourier series and its conjugate series. In this paper, the degree of approximation of a function $f \in Lip\alpha$ class by Euler-Cesaro means of its Fourier series has been determined.

Keywords:

Fourier series

Euler-Cesaro means

Degree of approximation

Lipschitz class

Conjugate series

1. Introduction

A function $f \in Lip\alpha$ if

$$f(x+t)-f(x)=O(|t|^\alpha) \quad \text{for } 0 < \alpha \leq 1. \quad (1.1)$$

The degree of approximation of a function of a function $f: R \rightarrow R$ by a trigonometric polynomial t_n of order n , denoted by $E_n(f)$, is defined by

$$E_n(f) = \inf_{t_n} \|t_n - f\|_\infty = \sup \{ |t_n(x) - f(x)| \} \quad (\text{Zygmund}^{[1]}) \quad (1.2)$$

Let $f(t)$ be the 2π -periodic, Lebesgue integrable function of t over the interval $(-\pi, \pi)$ and belonging to $Lip\alpha$ class. The Fourier series of $f(t)$ is given by

$$f(t) \sim \frac{1}{2} a_0 + \sum_{n=1}^{\infty} (a_n \cos nt + b_n \sin nt) \quad (1.3)$$

If

$$\sigma_n^1 = \frac{1}{n+1} \sum_{k=0}^n S_k \rightarrow S, \quad \text{as } n \rightarrow \infty \quad (1.4)$$

Then an infinite series $\sum_{n=0}^{\infty} u_n$ with the partial sums S_n is said to be summable Cesaro means of order 1 or (C,1) to the definite number S (Hardy^[2])

$$\text{If } E_n^1 = \frac{1}{2^n} \sum_{k=0}^n \binom{n}{k} S_k \rightarrow S, \quad \text{as } n \rightarrow \infty \quad (1.5)$$

Then an infinite series $\sum_{n=0}^{\infty} u_n$ with the partial sums S_n is said to be summability (E,1) to the definite number S . (Knopp^[3])

If (E,1) method is superimpose on (C,1) method then, another method of summability (E,1)(C,1) is obtained.

Thus, if

$$t_n^{E_1 C_1} = \frac{1}{2^n} \sum_{k=0}^n \binom{n}{k} \sigma_k \rightarrow S, \quad \text{as } n \rightarrow \infty \quad (1.6)$$

then the series $\sum_{n=0}^{\infty} u_n$ is said to be summability by (E,1)(C,1) means or Euler-Cesaro means to S .

We use following notation

$$\Phi_n(x) = f(x+t) + f(x-t) - 2f(x) \quad (1.7)$$

The degree of approximation of functions belonging to $Lip\alpha$ by Cesaro means, Norlund means and Hausdorff means has been discussed by a number of researchers like Alexits^[4], Sahney and Goel^[5], Chandra^[6], Quereshi^[7-9], Rhoades^[10], Bhatt and Khatal^[11] obtain interesting results on (C,1)(E,1) summability of a Fourier series and its conjugate series. But till now no work seems to have been done to obtain the degree of approximation of a function $f \in Lip\alpha$ by product summability means of the form Euler-Cesaro means. In an attempt to make a study in this direction, in this paper the degree of approximation of a function $f \in Lip\alpha$ class by Euler-Cesaro means of its Fourier series has been determined in the following form:

2. Main Theorem

If $f: R \rightarrow R$ is 2π periodic, Lebesgue integrable on $[-\pi, \pi]$ and $Lip\alpha$ function then its degree of approximation by Euler-Cesaro means of its Fourier series (1.3) satisfies

$$\|t_n^{E_1 C_1}(x) - f(x)\|_\infty = \begin{cases} O\left(\frac{1}{(n+1)^\alpha}\right); & \text{if } 0 < \alpha < 1 \\ O\left(\frac{\log(n+1)}{(n+1)}\right); & \text{if } \alpha = 1, \end{cases}$$

For $n = 0, 1, 2, 3, \dots$

where $t_n^{E_1 C_1}(x) = \frac{1}{2^n} \sum_{k=0}^n \binom{n}{k} \sigma_k$ i.e. Euler-Cesaro means of Fourier series (1.3).

3. Estimate

For the proof of the theorem following estimate is required

* Corresponding author. Tel.: +919662666179; e-mail: anjali.srivastava37@gmail.com

$$1 - \cos^{\frac{t}{2}} \cos(n+2)\frac{t}{2} = O((n+1)^2 t^2), \text{ for } 0 \leq t \leq \frac{1}{n+1} \quad (3.1)$$

For $0 \leq t \leq \frac{1}{n+1}$

$$\begin{aligned} 1 - \cos^{\frac{t}{2}} \cos(n+2)\frac{t}{2} &= 1 - \left\{ 1 - \left(\frac{t^2}{8} + \dots \right) \right\}^2 \left\{ 1 - \frac{(n+2)^2 t^2}{8} + \dots \right\} \\ &\leq 1 - \left\{ 1 - \frac{nt^2}{8} \right\} \left\{ 1 - \frac{(n+2)^2 t^2}{8} \right\} \\ &= 1 - \left\{ 1 - \frac{nt^2}{8} - \frac{(n+2)^2 t^2}{8} + \frac{n(n+2)^2 t^2}{64} \right\} \\ &\leq \frac{nt^2}{8} + \frac{(n+2)^2 t^2}{8} \\ &= \frac{t^2}{8} + [n+(n+2)] \\ &\leq \frac{t^2}{8} (n+1)(4n+4) \\ &= \frac{t^2}{2} (n+1)^2 \\ &= O((n+1)^2 t^2) \end{aligned}$$

4. Proof of the theorem

Following Titchmarsh [12] the n^{th} partial sum $S_n(x)$ of the series (1.3) at x is

$$S_n(x) = f(x) + \frac{1}{2} \int_0^\pi \frac{\vartheta(t)}{\sin \frac{t}{2}} \frac{\sin(n+\frac{t}{2})}{\sin \frac{t}{2}} dt$$

So the (C,1) means of the series (1.3) are

$$\begin{aligned} \sigma_n(x) &= \frac{1}{n+1} \sum_{k=0}^n S_k(x) \quad (n=0,1,2,3,\dots) \\ &= f(x) + \frac{1}{2\pi(n+1)} \int_0^\pi \frac{\vartheta(t)}{\sin \frac{t}{2}} \left(\sum_{k=0}^n \sin \left(k + \frac{1}{2} \right) t \right) dt \\ &= f(x) + \frac{1}{2\pi(n+1)} \int_0^\pi \frac{\sin^2(n+1)\frac{t}{2}}{\sin^2 \frac{t}{2}} \{ f(x+t) + f(x-t) - 2f(x) \} dt \\ &= f(x) + \frac{1}{2\pi(n+1)} \int_0^\pi \frac{\sin^2(n+1)\frac{t}{2}}{\sin^2 \frac{t}{2}} \vartheta(t) dt \end{aligned}$$

Now (E,1) transform of (C,1), denoted by $t_n^{E_1, C_1}(x)$, is given by

$$\begin{aligned} t_n^{E_1, C_1}(x) &= \frac{1}{2^n} \sum_{k=0}^n \binom{n}{k} \sigma_k(x) \\ &= f(x) + \frac{1}{2^{n+1}\pi(n+1)} \int_0^\pi \frac{\vartheta(t)}{\sin^2 \frac{t}{2}} \left\{ \sum_{k=0}^n \binom{n}{k} \sin^2(k+1)t \right\} dt \\ &= f(x) + \frac{1}{2^{n+2}(n+1)\pi} \int_0^\pi \frac{\vartheta(t)}{\sin^2 \frac{t}{2}} \left\{ \sum_{k=0}^n \binom{n}{k} (1 - \cos(k+1)t) \right\} dt \\ &= f(x) + \frac{1}{2^{n+2}(n+1)\pi} \int_0^\pi \frac{\vartheta(t)}{\sin^2 \frac{t}{2}} \left\{ \sum_{k=0}^n \binom{n}{k} - \sum_{k=0}^n \binom{n}{k} \cos(k+1)t \right\} dt \\ &= f(x) + \frac{1}{2^{n+2}(n+1)\pi} \int_0^\pi \frac{\vartheta(t)}{\sin^2 \frac{t}{2}} \{ 2^n - \operatorname{Re}(e^{it}(1+e^{it})^n) \} dt \\ &= f(x) + \frac{1}{2^{n+2}(n+1)\pi} \int_0^\pi \frac{\vartheta(t)}{\sin^2 \frac{t}{2}} \{ 2^n - \operatorname{Re}(e^{it}(1+e^{it} + \cos t + i \sin t)^n) \} dt \\ &= f(x) + \frac{1}{2^{n+2}(n+1)\pi} \int_0^\pi \frac{\vartheta(t)}{\sin^2 \frac{t}{2}} \{ 2^n - \operatorname{Re}(e^{it}(2\cos^2 \frac{t}{2} + 2i \sin \frac{t}{2} \cos \frac{t}{2})^n) \} dt \\ &= f(x) + \frac{1}{2^{n+2}(n+1)\pi} \int_0^\pi \frac{\vartheta(t)}{\sin^2 \frac{t}{2}} \{ 2^n - 2^n \cos^n \frac{t}{2} \operatorname{Re}(e^{it}(\cos \frac{t}{2} + i \sin \frac{t}{2})^n) \} dt \end{aligned}$$

$$\begin{aligned} &= f(x) + \frac{1}{2^{n+2}(n+1)\pi} \int_0^\pi \frac{\vartheta(t)}{\sin^2 \frac{t}{2}} 2^n \left\{ 1 - \cos^n \frac{t}{2} \left(\cos t \cos \frac{nt}{2} - \sin t \sin \frac{nt}{2} \right) \right\} dt \\ &= f(x) + \frac{1}{4(n+1)\pi} \int_0^\pi \frac{\vartheta(t)}{\sin^2 \frac{t}{2}} \left\{ 1 - \cos^n \frac{t}{2} \cos \left(t + \frac{nt}{2} \right) \right\} dt \\ &= f(x) + \frac{1}{4(n+1)\pi} \int_0^\pi \frac{\vartheta(t)}{\sin^2 \frac{t}{2}} \left\{ 1 - \cos^n \frac{t}{2} \cos \left(n + 2 \right) \frac{t}{2} \right\} dt \end{aligned}$$

Since here $\sin \frac{t}{2} \geq \frac{t}{2}$ it follows that

$$\begin{aligned} |t_n^{E_1, C_1}(x) - f(x)| &\leq \frac{\pi}{4(n+1)} \int_0^\pi \frac{|\vartheta(t)|}{t^2} \left| 1 - \cos^n \frac{t}{2} \cos \left(n + 2 \right) \frac{t}{2} \right| dt \\ &= \frac{\pi}{4(n+1)} \left(\int_0^{\frac{1}{n+1}} + \int_{\frac{1}{n+1}}^\pi \right) \frac{|\vartheta(t)|}{t^2} \left| 1 - \cos^n \frac{t}{2} \cos \left(n + 2 \right) \frac{t}{2} \right| dt \\ &= I_1 + I_2, \text{ say} \quad (4.1) \end{aligned}$$

Applying fact that $f \in Lip \alpha$ and estimate (3.1), we have

$$\begin{aligned} |I_2| &\leq \frac{\pi}{4(n+1)} \int_0^{\frac{1}{n+1}} \frac{|\vartheta(t)|}{t^2} O((n+1)^2 t^2) dt \\ &= O(n+1) \int_0^{\frac{1}{n+1}} t^\alpha dt \\ &= O\left(\frac{1}{(n+1)^\alpha}\right); \quad 0 < \alpha < 1 \quad (4.2) \end{aligned}$$

Let us consider I_1

$$\begin{aligned} |I_1| &\leq \frac{\pi}{4(n+1)} \int_{\frac{1}{n+1}}^\pi \frac{|\vartheta(t)|}{t^2} \left| 1 - \cos^n \frac{t}{2} \cos \left(n + 2 \right) \frac{t}{2} \right| dt \\ &= O\left(\frac{1}{n+1}\right) \int_{\frac{1}{n+1}}^\pi \frac{O(t^{\frac{\alpha}{n+1}})}{t^2} O(1) dt \\ &= O\left(\frac{1}{n+1}\right) \int_{\frac{1}{n+1}}^\pi t^{\alpha-2} dt \\ &= O\left(\frac{1}{n+1}\right) \begin{cases} \left(\frac{t^{\alpha-1}}{\alpha-1}\right)_{\frac{1}{n+1}}^\pi & ; \alpha \neq 1 \\ (\log t)_{\frac{1}{n+1}}^\pi & ; \alpha = 1 \end{cases} \\ I_1 &= O\left(\frac{1}{n+1}\right) \begin{cases} \left(\frac{1}{1-\alpha}\right) \left(\frac{1}{(n+1)^{\alpha-1}} - \frac{1}{\pi^{1-\alpha}}\right) & ; \alpha \neq 1 \\ \log \pi + \log(n+1) & ; \alpha = 1 \end{cases} \\ &= \begin{cases} O\left(\frac{1}{(1-\alpha)}\right) \left(\frac{1}{(n+1)^\alpha} - \frac{1}{\pi^{1-\alpha}(n+1)}\right) & ; \alpha \neq 1 \\ O\left(\frac{\log(n+1)\pi}{n+1}\right) & ; \alpha = 1 \end{cases} \quad (4.3) \end{aligned}$$

Combining (4.1), (4.2) and (4.3), we have

$$|t_n^{E_1, C_1}(x) - f(x)| = \begin{cases} O\left(\frac{1}{(n+1)^\alpha}\right) & ; \alpha \neq 1 \\ O\left(\frac{\log(n+1)\pi}{n+1}\right) & ; \alpha = 1 \end{cases} \quad (4.4)$$

Thus

$$\begin{aligned} \|t_n^{E_1, C_1}(x) - f(x)\|_\infty &= \sup_{-\pi \leq x \leq \pi} |t_n^{E_1, C_1}(x) - f(x)| \\ &= \begin{cases} O\left(\frac{1}{(n+1)^\alpha}\right) & ; \alpha \neq 1 \\ O\left(\frac{\log(n+1)\pi}{n+1}\right) & ; \alpha = 1 \end{cases} \end{aligned}$$

5. Example: Consider the infinite series

$$1 + 2 \sum_{n=1}^\infty n(-1)^{n+1} \quad (5.1)$$

For this series ,

$$S_0 = 1, S_1 = 3, S_2 = -1, S_3 = 5, S_4 = -3, \dots$$

Thus we get that

$$S_n = \begin{cases} (1-n) & ; \text{when } n \text{ is even} \\ (n+2) & ; \text{when } n \text{ is odd} \end{cases}$$

It is known that

$$\sigma_n^1 = \frac{1}{n+1} \sum_{k=0}^n S_k$$

Then

$$\sigma_n^1 = 1, \quad \sigma_n^1 = 2, \quad \sigma_n^1 = 1, \quad \sigma_n^1 = 2, \dots$$

$$\text{i.e. } \sigma_n^1 = \begin{cases} 1 & ; \text{when } n \text{ is even} \\ 2 & ; \text{when } n \text{ is odd} \end{cases}$$

Hence $\lim_{n \rightarrow \infty} \sigma_n^1$ does not exist. Therefore the series (5.1) is not (C,1) summable

Let us consider (E,1) (C,1) summability of series (5.1)

$$\begin{aligned} t_n^{E_1, C_1}(x) &= \frac{1}{2^n} \sum_{k=0}^n \binom{n}{k} \sigma_k(x) \\ &= \frac{1}{2^n} \left\{ \binom{n}{0} \sigma_0 + \binom{n}{1} \sigma_1 + \dots + \binom{n}{n} \sigma_n \right\} = \frac{3}{2} \end{aligned}$$

Then

$$\lim_{n \rightarrow \infty} t_n^{E_1, C_1} = \frac{3}{2}$$

Thus the series (5.1) is (E,1)(C,1) summable to the sum $\frac{3}{2}$

Therefore the product summability (E,1)(C,1) is more powerful than the individual method. Consequently (E,1)(C,1) means gives better approximation than individual method.

References

1. A. Zygmund, Trigonometric Series, Second revised edition, Cambridge Univ. Press, Cambridge, **1968**.
2. G. H. Hardy, Divergent series, First edition, Oxford University Press, **1949**.
3. K. Knopp, Theory and applications of infinite series, Dover Publications, Inc. New York, **1928**.
4. G. Alexits, Über die Annäherung einer stetigen Funktion durch die Cesaro Mittel in ihrer Fourier-Reihe, *Math Annal*, 1928, 100.
5. B. N. Sahney, D. S. Goel, On the degree of approximation of continuous functions, *Ranchi Univ. Math. J.*, **1997**, 4.
6. Prem Chandra, On degree of approximation of functions belonging to the Lipschitz class, *Nanta Maths*, **1975**, 8.
7. K. Qureshi, and H. K. Nema, A Class of function and their degree of approximation, *Ganita*, **1990**, 41.
8. K. Qureshi, On the degree of approximation of a periodic function f by almost Norlund means, *Tamkang J. Math.*, **1981**, 12(1).
9. K. Qureshi, On the degree of approximation of a function belonging to the class $Lip \alpha$, *Indian J. Pure Applied Math.*, **1982**, 13(8).
10. B. E. Rhoades, On the degree of approximation of a function belonging to the class Lipschitz class by Hausdorff means of its Fourier series, *Tamkang J. Math.*, **2003**, 34.
11. S. K. Bhatt, P. D. Kathal, The (C,1) (E,1) summability of a Fourier series and its conjugate series. *Math. Ed. (Siwan)*, **2000**, 34.
12. E. C. Titchmarsh, The theory of functions, second edition, Oxford Univ. Press, **1939**.